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Special Problem 1.5-3 Special Problem 1.5-3 
  
Two amplifiers are cascaded together, as shown below. Two amplifiers are cascaded together, as shown below. 
  
For amplifier A, the relevant parameters are: For amplifier A, the relevant parameters are: 
  

Avo = 100 Avo = 100 
Ri =  9K  Ri =  9K  
Ro = 900 Ro = 900 

  
  
For  amplifier B, they are: For  amplifier B, they are: 
  

Avo = 50 Avo = 50 
Ri = 100 Ri = 100 
Ro = 1 K Ro = 1 K 

  
1) What then is the value vo/vi ? 1) What then is the value vo/vi ? 
  
2) What would be the  value of vo/vi if the gain of the second amplifier is 
reduced to Avo = 10, and its output resistance also reduced to 10 Ω? 
2) What would be the  value of vo/vi if the gain of the second amplifier is 
reduced to Avo = 10, and its output resistance also reduced to 10 Ω? 
  
  
  
  
  
  
  
  
  
  
  
  
  
  

    

 

    

 
vi 

+ 
vo 
 
- 

RL = 1K 

Rs = 1K 

 Amplifier B 
 
     Avo = 50 
     Ri =  100  
     Ro = 1 K 

 Amplifier A 
 
     Avo = 100 
     Ri =  9 K  
     Ro = 900 + 

- 



8/26/2003 SP 1.5-3 2/2 

    

 


